Exercise 1 Calc. : X
Number of chlidren per woman and.internet usage
71 (in % of the population)
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a) State the variables of this graph. 1 mark
b) Identify the way in which the variables are correlated in the graph. 2 marks
¢) Explain any causality that there might be between the variables. 2 marks




Exercise 2 Calec. : X
Number of chlidren per woman and.internet usage
71 (in % of the population)
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a) Donner les variables de ce graphique. 1 mark
b) Identifier la maniére dont les variables sont corrélées dans le graphique. 2 marks
¢) Expliquer toute causalité qui pourrait exister entre les variables. 2 marks




